PARTS LIST

AK-85C
PARTS LIST

5 URL(PARTS Website/PC Yo ) &b (EFIIFREZREEED DLVc Web Parts Book ZCHIABIFE T,
CHRICEEEEFIUNETYT, (ERD
https://juki.aftama.com/JUKI/JA

You can use a Web Parts Book with a convenient search function from the URLs (PARTS Website/PC-site)
below. To use the PARTS Website, free membership registration is required.
https://juki.aftama.com/JUKI/EN

No.1747-00



1. AK-85C




REF.NO NOTE PART NO DESCRIPTION B % Qty
1 402-25180 SIDE PLATE ASM. B R (HE) B 1
2 WP-1021016-SD  WASHER FEE 10, 2X18X1 @)
3 SD-0800352-SP SHOULDER SCREW D=8 H=3.5 B D=8 H=3. 5 (1)
4 229-91301 SOLENOID LINK VU /A RUYG (1)
5 NS-6150310-SP HEXAGONAL NUT 15/64-28 NEFvhk 15,/64-28 (1)
6 SS-7121410-TP SCREW 3/16-28 L=14 AFRC 3./ 176-28 L=14 @)
7 GAK-33027000 SOLENOID ARM B vVi/ A REEB (1)
8 229-91400 SOLENOID SHAFT VA R (1)
9 402-25179 SIDE PLATE ASM. A EAREE) A (1)

10 RE-0700000-K0 E-RING 7 EF1E&DER 7 (1
11 WP-0621036-SP WASHER TEs )
12 NS-6150440-SP HEXAGONAL NUT 15/64-28 MEFvhk 15/64-28 (2)
13 402-25182 AK_SOLENOID_ASM.B AKV L /A KRR B 1

14 SM-6051002-TP SCREW M5X0.8 L=10 NAETURILE M5X0. 8 L=10 (1)
15 GAK-33012000 SOLENOID PIN Vi /A REY (1)
16 GAK-33035000 SOLENOID COLLAR VU /A RAZ— (D)
17 RE-0400000-KP E-RING 4 EfF1E&DER 4 (2)
18 GAK-33013000 SOLENOID PIN COLLAR VU /A REVAS— (1)
19 SM-6051552-TP SCREW M5 L=15 ARy M5 L=15 (1)
20 GAK-33011000 SOLENOID ARM A VU /A REBEA (1)
21 402-25181 AK_SOLENOID_ASM.A AKVLD /A R A M
22 GAK-330400A0 SHAFT PIN ASM. R LT (1) 1

23 RE-0500000-K0 E-RING EFLDE®D (1)
24 GAK-33042000 KNEE LIFTING LINK SPRING BRETFUVIEn 1

25 GAK-33041000 KNEE LIFTING LINK STEP SCREW BREFUIEBRU 1



	COVER
	表紙

	1. AK-85C



